Al Of & AF & B Ml A
2012E S 20la FABSESIH HH
SN DEHHY
M EXNTeY(+SUYDE/HERS - 28SIIE)
o9 BY L YAENE HB(ERZSHIH) (25l &2
_ HE T
SN - [(BIH) - MRAY - B8 0ff &+ o4 il i~ o Hnz2
DEHH 6,628,821 11,531,505 £4,902,704
ZANHSY(+SLDE/HEDE - SRSIIE) 6,102,629 11,001,388 14,898,759
3Y L YNENY HB(FNZSLH) 3,945,803 9,439,458 5,493,655
AN FXE AILALYS 1,417,000 2,930,000 A1,513,000
401 A2 HIL 2O HI 1,417,000 2,930,000 A1,513,000
01 Al& ] 1,410, 160 2,916,572 A1,506,412
O SHUX AA FXE ALBA
1,000,000,0002! * 99.37/100 993, 700
O QA FXE AILZA
50,000,000 * 98.92/100 49,460
O YA F=XE AL & F| 367,000
o FEAIL L 600,002 * 1684 100,800
o EXE &% 700,002 * 10074 70,000
o FX PEM &X 3,002 * 10,000m 30,000
o FXE 24 L A=Y
1,50020 * 100,000 150,000
o QHYEXE &X 300,0009 * 547K 2 16,200
03 Al& 2 ChH] 6,840 13,428 6,588
O SHUX UA FXE ALZAM
1,000,000,0002! * 0.63/100 6,300
O YA FXE ALBA
50,000,0002! * 1.08/100 540
TY FE ALY 2,470,000 6,300,000 3,830,000
401 A2 HIL 2O 2,470,000 6,300,000 3,830,000
01 Al&H| 2,457,076 6,277,140 3,820,064
O S4S BYFHE HFTA
1,200,000,0002! * 99.64/100 1,195,680
O ND ZYEXNT HFYTA
120,000,0002 + 99.28/100 119,136
O DIBS FX ZYENE AEIA
600,000,000%! * 99.37/100 596,220
O A58 ZYFHE HFTM
200,000,0002 * 99.28/100 198,560
O 248 FHUX TYFUHE ALBA
350,000,0002 * 99.28/100 347,480
03 Al& S THH] 12,924 22,860 £9,936
O S48 BYFHE HFTA
1,200,000,000%! * 0.36/100 4,320
O ND ZYEXNT ST
120,000,008 * 0.72/100 864
O DIBS FX ZYENE AETA
600,000,000% * 0.63/100 3,780
O A58 ZYFHE HBTM
200,000,002 * 0.72/100 1,440




SN DEHEY
I F=UE2I (S E/HENE - 283SIIE
ol T U ANFEME B (ENESHIH) (crel @ e
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
O B+ FYHN SLEFINE AESA
350,000,000 = 0.72/100 2,520
ol Bl dl 8,803 9,458 A 655
801 Gildlbl 8,803 9,458 A 655
01 oyl gl 8,803 9,458 A 655
O ollgltl 8,803,000& = 14 8,803
FUHNEHES e 50,000 0 50,000
402 QI2tXH=0 50,000 0 50,000
01 QI2t X=X 50,000 0 50,000
O FUHEESAHAEZS ASHl NJAEY
50,000,000 * 1JH2 50,000
FIUHEY HOAAMNEE HE(FUHEASESH) 66,000 193,500 A 127,500
38 =XE AL ]l 66,000 193,500 A127,500
401 AIEBIZ 2OHYI 66,000 193,500 A127,500
01 A& HI 66,000 193,112 A127,112
O 39 =X ANEEs 2 Ful 66,000
o HA = 600,000& * 504 30,000
o FIFEHM B 12,000& = 1,500m" 18,000
o =X LHE=S 18,000& = 1,000m" 18,000
SIAFNE 29 (FUHESLE3IA) 1,205,945 396,686 809,259
=29 FIE 22 477,393 396,686 80,707
101 el d| 372,255 311,434 60,821
04 JI12HHZ22NHSEs 372,255 311,434 60,821
O SFFxE 2eld 372,255
o JlEa 49,6303 * 5 » 20 * 46=F 228,298
o F=XtaY 49,6303 » 209 * 46 45,660
o oERLY
L0120 * 8AIZE = 79 * 28 * 46 15,977
o OF2tzaldl 7,000 * 1298 * 52 * 463 19,320
o AEE= 25,000,000& = 14 25,000
o &3 30,000,000& * 1A 30,000
o I=Hl 200,000& * 20 * 23| 8,000
201 B2 HH| 103,638 83,752 19,886
01 AR 2teld 52,678 33,072 19,606
O gxz 52,678
o & 805,000& * 1,175m * 25/1,000 23,647
o &Y 320,000 = 1,189m" * 25/1,000 9,512
o g 86,700& * 9,005m = 25/1,000 19,519
02 25243 50,960 50,680 280
O 3Z =X& AMEEHISRAU 17,840
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SN
X XH .
S Tt

el

SN HH . EP(BH) - A - BHAS Abod e HlDE2
FHXN HE(=XNEESLESAH) 884,881 971,744 86,863
=Xt oS3 e 280,833 263,050 17,783
101 212 d| 280,833 263,050 17,783
04 |12 HZ22NEES 280,833 263,050 17,783
O =ZIe=R 262,966
o JlEa 49,6303 » 52 * 13Y 46 148,394
o =XtY 49,6303 * 13Y * 463 29,679
o XY 49,6303 * 139 » 13 8,388
o SRS
49,6303 * 13F = 110 = 23| » 150% 21,292
o AMNEIEEZ 17,000,000& * 14 17,000
o E&Z 20,000,000 » 14 20,000
o EEZAZH F=IHESH S A
7,000 = 13% = 132 » 11 S 13,013
o I=Hl 200,000& * 13" = 23| 5,200
O FEX S S (2E30|2 17,867
o JlEa 49,6303 » 5H * 5 x 12 14,889
o =XtY 49,6303 » 5% * 12= 2,978
X 2X7AG AE=S FH| 604,048 708,694 A 104,646
201 YEr2gy| 349,048 71,694 277,354
01 At 2teltl 229,372 0 229,372
O get=EZH| 99,072
o NEUHUA NS E 7
12,0008 * 21694 » 23l 5,184
o WsSoUA =SS HiHe 2
1,500 * 2160 = 12 3,888
o WESotUA 2tHtE 7
15,000& * 2,0004 30,000
o FHI 2X ER 2%
70,000& * 80H & 5,600
o NEHUA 2Y A2
150,000& * 8014 * 3HE 36,000
o NSoUA BHOAME 22 P2 12,000
- J0lal Xt 70,0003 * 80 £ 5,600
— ZOolal X+ 20,0002 = 470 * 80 6,400
o WEUHA: SSHE S92 HZE
40,0003 * 80L& * 28] 6,400
O iz 130,300
o WsSoA SSHE X
1,100,000& * 809 A& 88,000
o WEUA R2HI| Xt
60,000& * 80 * 3IHE 14,400
o =28 FEX CEXE AR Yt
300,000& * 93 27,900




SN DERFD
M FUE2Z(+SLNE/UHENE - SFSIIE)
tel: SHFAXL S (=NESEIAH) (el &)
SN HB SR (BIH) - A - B S s ot S D=2
02 2324l 119,676 71,694 47,982
O ZZUZ ¥ HA 64,080
o EY FIX ROASHIHAH(DHA) A
MEEZ 50,000& = 49004 * 12JHE 29,400
o =% FEX RULSEIMNe SRS
40,0003 * 49044 * 12& 23,520
o =Y FEAXN HE HH(PA) SH22
35,000& * 8OH = 123 3,360
o M LAIAE(SMS) SARB
50,0002 » 13& * 12& 7,800
O AM&EHI=Xd] 55,59
o ¥ FEI R0ISGEII0RHDIA) B
2 250,000& = 10CH = 12& 30,000
o AME LE(WSHA)AAY RAES
770,000& = 12JH& 9,240
o HS T HXZALAAY A2
200,000 = 12043 2,400
o MEIEYHRAAE R
200,000& * 12043 2,400
o AN LAIAE(GIEAN) RXE=
163,000& = 120 & 1,956
o FHIHSE SSHAME RXNE+
200,000& = 12JH& 2,400
o =Y FAXN HH(0SMAAY RAES
200,000& = 3CH = 120H& 7,200
401 A& Bl 2 CHYI 250,000 592,000 A 342,000
01 A& HI 248,020 587,576 A 339,556
O 2gsdz XN 2 &X
200,000,000 * 99.28/100 198,560
O =X 3X79 AId28 J3dl & &X
50,000,000& * 98.92/100 49,460
03 A& R0 1,980 4,424 A2,444
O ggsdz I8 2 4
200,000,000& = 0.72/100 1,440
O =X X749 Ald28 Jdl & £X
50,000,000& = 1.08/100 540
405 AHetE = HI 5,000 45,000 240,000
01 XML EZH=HI 5,000 45,000 A 40,000
O AMEEXA S # 5,000,000& = 1CH 5,000
HE 2L (DS W)(IIEH/IIE) 526,192 530,137 A 3,945
HA2IHI(FHESESAH) 203,949 193,974 9,975
A2l 203,949 193,974 9,975
101 @124 | 203,949 193,974 9,975
01 2= 44,098 30,541 13,557




SN DEHH D
M HYSIZH(RSHE ) (JIEHIIE
Bl ol e g (FUHESES) CERL
SA - EH .S (BH) - MBAY - B Ofl A o4 dd = HRS2
O & 04
O AMBAHEIZS)DNEXNT 222 520224
=3 44,098
o 53 78,9923 x 19 x 20 1,580
o 63 67,369% * 7H x 20 9,432
o 72001s73) 60,853& * 16Y * 20 19,473
o 8=2(J1s83) 54,6343 * 9Y x 20 9,835
o 92(01s93) 49,3833 * 29 x 20 1,976
o Jls102 45,0203 * 29 x 20 1,802
03 RIIHAZZ2 A2 159,851 163,433 N 3,582
O =249 =81 o453 159,851
o JlEg=a 49,630& * 5H x 260Y 64,519
o A3 64,519,000& * 4/12 21,507
o Z2EHIHAZ 64,519,000 * 10% 6,452
o A2t 2f24%
6,790 * 5 x 40AI2t + 12& 16,296
o FXx¢ 49,6303 * 5 x 52 12,904
o AXxH 49,6303 * 5 x 15 3,723
o BYRRLY
49,6303 * 5% * 202 * 150% 7,445
o AMNSIEE = 10,000,000& = {14! 10,000
o &= 10,000,000& = 14! 10,000
o EEIZ2AZU F=XHHSZR SAH|
7,000& * 5Y * 13 » 110H& 5,005
o II=H| 200,000& = 5H x 23] 2,000
Jl2 HU(=XEEYE3IH) 322,243 336, 163 A 13,920
J|2&l 322,243 336, 163 A 13,920
201 Let2HAb| 292,475 304,475 A 12,000
01 AtR2t2|H] 81,838 93,838 A 12,000
O LEtx=2H| SHAA 56,268,000 * 14 56,268
O L=Hl =SHHA 1,000,000& * 14 1,000
O SH SHHA 18,570,000& * 14! 18,570
O AM&#HA FXAHEZH OHE AAX XS
300,000& = 200 = 2 x 53] 6,000
02 3524l 210,637 210,637 0
O =322 ¥ HAM SHHL
179,329,000 * 14) 179,329
O XtEHetd] SHHA 31,308,000 = 14! 31,308
202 (4 Hi 29,768 31,688 A 1,920
01 2L 12,488 12,488 0
O ZHHHl =HH A 12,488,000& * 14 12,488
02 2 X0t 17,280 19,200 A 1,920
O EHNH SHHA 160,000&  9H » 128 17,280




